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Ihe Paris Agreement is related to:
(A) Human Rights

k : (1Y Intermation
(L) Climate Change (I |--:--L“rih:”mI Frade
e LN ) I'I
i ”‘:‘ headquarters of the World Bank is located in-
hj..} lnl_-n-.;ul-u (B) New York
(L) Washington, D.C, (DY London
4. The world’s highest waterfall. Angel Falls, is located in which country?
.]_.,- . < -,
(A)  Peru (B) Colombia
(C) Veneruela (D) Brazil
M

Which country exited the European Union in 20207
[s} ) France (B)° Germany
(C) UK (D) Ireland

6. The International Court of Justice.is located in:
{A) Geneva (B) Paris
(€) The Hague (D) New York

7. Which Asian country hosted the 2024 Summer Olympics (held in 20217

{A) China (B) Japan

(() France (DY India

8. The current President of France (2025) 1s:

(A) Francois Hollande (B) Nicolas Sarkozy

(C) Emmanuel Macron (D) Marine Le Pen

Q. The Belt and Road Initialive is associated with:
(A) USA (B) India
(C) China (D) Germany

10. The UN Security Council has how many permanent members?
(€) 3 (D) All incorrect,
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12, I'he

Ir1!-:rnuu' y .
(A) 935 ol Monetary Fyng was established in: 5
(C) AT (By 1

(D) 1960

Indian sgare has the Jarges population?
dharashirg

(B) Utar Pradesh
(C)  Bihar (D) West Bengal

4. What i< the total number of seats in the Lok Saubha?
(A) 545

(B) 530
() 552 (D} 3540

I5. NITI Aayog replaced which planning body? : il
(A) F'Jan_rling Cﬂmmissiuﬂ (B) Economic l!:'u_um::B s
(C)  Finance Commission (D} Budget Planning Board

I6. Who appoints (he Chiel Election Commissioner of India?

(A)  Prime Minister (B). ,Pifﬁgf»m_
(C) Lok Sabha Speaker (13) #Vice President

17, Which city is known as the ‘Silicon Valley of India’?

(A) Mumbai (B) Hydaral?ad
(C)  Bengalury (D) Chennai

18. The Goods ad&_;_ﬁﬁr{*i@s ?‘ax'{GST] was implemented in India from:
(A) _Ist April 2017,

" (B) IstJuly2017
(C) ¢ I5thAugust 2017 (D) 2nd October 2017

19, Which Indian is known as the “Missile Man of India*?
(A) Rakesh Sharma

(B) A.PJ. Abdul Kalam
(C)  Vikram Sarabhai (1D)  Homi Bhabha

20.  What is the name of India 's first indigenously developed aircraft carrier?
(A) INS Vikrant

: (B) INS Arihant
(C) INS Kalvari (D) 1INS Chakra
The Chief Minister of Himacha] Pradesh as on November 2022 was:
(A)  Jai Ram Thakur B : 5
©) Virbhatea Singh (B) Sukhvinder Singh Sukhu

(D) Anurag Thakur
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[ J Wihiteh state was formed T 2000 along with Jharkhand il | g
| (A Chlartisgarh (1)
| (L) Saikkiim {15}
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3. Which Indian state has the longest coastling}
(AY  CGujara ()

Famil Nagy
() Kerla (1)

Adicdhra l'r.-m::.«;h

24 The i'h.‘.'u!q:l.‘lﬂ::r*: of the Reserve Bank of India is ME
(A) Delhi (1)

Mumbai
(C) Kolkata (D)  Hyderabag
I 25.  The Right to l:ducation Acf was passed in:
(A) 2005 (3) 2006
(C) 2000 (1} 2010

26.  The three rivers connected with “Trigarta™ are:
(A) Ravi, Jhelum, Beas {B)

Beas, Chenah. Satf,
(C) Satlup, Ravi, Beas (D) 40, Satluj

Jhelum, Chenah, Riwi

27. The ancient name of Kangra Town was:
(A) Amarkot (B)

) Nagrota
(C) Nagarkot _ (D)

None

28. The ancient name of Kullu is:

(A) Kalut B) Suket
(C) Rajgir (D) WNone

29.  The first person from Himachal Pradesh appointed as Governor:
(A) Virbhadar Singh {B) Ram Lal
(C) Dr. Y.S Parmar (D) Sheela Dixit

30. How many working judges are in HP High Court Shimla now a days ineluding the Chief Justice
(A) 10 B) 7
(C) 12 (D) All incorrect

31. Chamera - Hydel - Project is in:
(A) Kullu (B) Mandi
(C)  Sirmaur (D) Chamba

32, The first woman Chief Justice of HP High Court was:

(A) Leela Seth (B) Shanti Devi
(C) Fatima Bibi (D) Urmila Singh
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14, When did a nt =
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(C) 3 ) :
hakri PoWer Corp. situated?

o FrujectN:lthuJ (B) Sarhan

- =t Hydr
35, Whereis Asia s Largest Hy

: Rampur
(A) Spiti (D)
(C) Kinnaur
pver: :
36. Rampur is located at the bank of 1! (B) Beas e
(A) Sutlyj (D) None of the abov

(C) Ravi

: sh?
37. Who was the first Lady speaker of Himachal Frm:lellrj3 ) Chandresh Kuinari
{A) Shyama Dogra

‘ ) | (D) Vidya Stokes
(C) Sarla Sharma
38. F::;:;— m;m v domestic airports are in the H.P Stétﬂ? © 3
(C) 4 | @) R
39. When Himachal Pradesh University was established?
(A) 1969 (B) 1970
©) 1971 (D) 1972
40. The Sino-Indian War between China and India was occurred in
(A) [956 (B) 1959
(C) 1962 (D) 1965
41. Smt. Indira Gandhi was assassinated in
(A) 1974 (B) 1984
(C) 1994 (D) 2004
42. India’s first nuclear blast at Pokhran in Rajasthan took place in
(A) 1984 (B 1974
(C) 1964 (D) 1954
43.

[n cricket, the two sets of wickets are?
(A) 18 yards apart

Z (B) 20 yards apart
(C) 22 yards apart

(D) 24 yards apart
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47. The island of Sri Lanka formerly known as
(A) Madagascar (BY Tasman:
(C) Ceylon (D) SManig

None of the :
M8 Alyyye

48. Guwahati High Court is the judicature of

(A) Nagaland (B)  Arunachal p,

(C} Assam (D) Al of the EI!HI::HTW
49, Film and TV institute of India is located at
(A) Pune (Maharashtra) (B)  Rajkot (Gujarar
(C) Pimpri (Maharashtra N o
v .} I F‘ { 5 } ':,L]]l PLlﬁlﬂl}l_lr[ I il"'l'-'.n'.'.ﬂ_-,,,
50, The ozone layer restricts
(A) Visible light (B) Infrared radiation
(C) X-rays and gammd rays (D) Ultraviolet radiation

51. For seeing objects at the surface of water from a submarine under water, the instrament yeed

(A) Kaleidoscope (B) Periscope "
(C) Spectroscope (D) Telescope

52. Himalayan Mountaineering Institute is at

(A) Darjee ing (B) Dehradun
(C) Marmago (D) Dispur
53 The Yarlung Zangbo river, in India, is known as
(A) Ganga (B) Indus
(C) Brahmaputra (D)  Mahanadi

54. The Salal Project is on the river
(A) Chenab (B) ,Ilhelulm
(C) Ravi (D) Sutle]
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What is.an e-mail attachment?
(A) A receipt sent by the recipient
(B) A separate document from another pre 5

can e prayed for 5

R T
Prime minister o

WU by
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(€) A malicious parasite that feeds off of your message and dest roys the cony
i - - ‘Onlents

(D) A list of GC, or BCC, recipients

Which of the following is not a real security threat and privacy risk?

Hackers
Viruses

ff!"l.]
(C)

The smallest unit in a digital system is a
(A) Buvte
(C) Word

Which of the following is a web browser?
(A) Macromedia Flash
(C) Netscape Navigator

Junk e-mail is also called —

(A) Spam
(C)  Sniffer script

(B) Spam

(D) Identity thefi
(B) Bit
(D) Character
(B) Microsoft Power Point

()  Adobe Dreamweaver

Spoof
Spool

(B)
(D)

A man buys a pen for 260 and sells it for 270. What is his profit percentage?

(A) 15%
(€) 10%

(B) 16.67%
(D) 20%

o ..‘'--.-.-.--_-;u*ﬂ-a.",:I
[f a train travels 60 km in 1 hour and 30 minutes, what is 1ts average speed’

(A) 40 km/h
(C) 60 km/h

What will be the cost of 3.5
(A) Z147
(C) 2148

kg of sugar if 1 kg costs 3427

(B) 50 km/h
(D) 45 km/h

7146
Z150

(B)
(1)
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a0 Youearn 2500 Per day, In hiow many diys will -\"“"l:;H ”m dnys
(A} 2§ L|.‘|_‘.h { 4 ays
ey 20 diys (Bp = F

ravel 250 km?
 neethed 10 HAVEL L.
itres are neet
76. A car gives a mileage of 20 km per litre. How many litres
" - L Ll L 2

: ) litres (B Il'j‘h:;
:S‘]} :E_ “_I;rll_‘r.ri» (D) 20 litre:
5 litres
. T
77. 1f 2 pencils cost 8, how much do 10 pencils Enhll{ﬁ] Z16
A 40 3
tLL‘}} 232 (B

, : sreentage?
78. A shirt marked at #800 is sold for 2640, What is the dﬁc:};';'; -

(A) 20% o

©) 25% | (RYN =R

S : needed to complete the same
79. If 5 workers can complete 4 job in 12 days. how many workers are Neecet i
job in 4 days? _
(A) 15 By
(C) 20 (D) 12

80. A basket contains 4 apples and 6 oranges. If vou pick one fruit randomly. what is the probability
of picking an apple?
(A)  4/10 (B). 215
(C)  40% (D) All of the above

81. Whatis 10% of 215007

(A) %150 (B) %100
(C) 2200 (D) 175
82. If | dozen eggs cost 272, what is the cost of 7 eggs?
(A) %42 (B) 40
(C) 248 (D) 45
83.

Ram bought 2 shirts for 2750 each. He gave a 21000 note, How much balance should the
shopkeeper return?

(A) 2250 (B) 500
(C) %1500 (D) 20
84. You fill 2 bottles with 1 litre each in 5 minutes. How many minutes will it take to fill 10 bottl
(A) 20 minutes (B) 25 minutes
(C) 30 minutes (D) 35 minutes
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Which is the larpesg
(A) \frica
(L) Asia

Which is the I""|'l:-.*-"-| FIver in (he wiarle
(A \Ninazon

(L) Yangilze -
() Missigsir

I'he Tropic of Cancer passes thr i
8 asses through which B ollowi
ki 1 ol the tollowing COUtitries?
(C)  Australia (B) Brazil B
(D) None of above.

Aoy SR Y ik 3 Tl
Mount Everest lies on the border between Which two countries?

(A) India and Ching BY i )
(C) India and Nepal () China and Nepal
(D) Nepal and Bhutan

Which is the smallest country in the world by area?
[::i; ::fll-: 1:::::{} (B) Maldives
[: - I {Ij_:l vu[iuﬂn L‘it}"

Which is the world's largest desert?
(A) Sahara
(C) Arabian

(BY  Gobi
(D). Antarctic Desert

lowing countries?
(B} Pakistan
(D) South Africa

The equator passes through which ofthe fol
(A) Kenya
(C) Mexico

Which ocean is the largest by surface area?
(A) Atlantic Ocean (B) Indian Ocean
(C) Arctic Ocean (D) Pacific Ocean

The Great Barrier Reef is located in which country? |
(A) India (B) L_'M,hl
(C) Australia (D) Brazi

Which of the following country has the most number ufli:}u zones?
i (B) India
E?; ?r"::éal'a (D) None of above
- nee

s o al"?
Which Indian river is known as the "Sorrow of ﬂﬂ:ﬁ; Kosi
(A) Ganga (D) Brahmapuird
(C) Damodar ;
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: : : : 4 of India?
96. The Deccan Plateau is located in which part of India:

(A) North India (B) South '||!L‘hEI -
(C) East India (D) None of the above

97, Which Indian state is the largest by area?”
(A) Madhya Pradesh : (B) Maharashtra
(C) Rajasthan (D) Uttar Pradesh
98. Which is the deepest ocean trench in the world?
(A) Java Trench (B) Mariana Trench
(C) Tonga Trench (D) None of above

79.  What is the capital of Sri Lanka?

(A) Colombo (B) Dhaka
(C) Jaffha (D) Male
). Which Indian lake is the largest saltwater lake?
(A) Woular Lake (B) Dal Lake
(C) Chilika Lake (D) Sambhar Lake
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